www.learnerkey.com

91.

92.

93.

94.

95

96.

97.

38/1

Q

www.Padasalai.Net

DOOZY STUDY

senflgin /| MATHEMATICS

all&lguyn srerasaflsr gl L6 a6l
------ LG

Do 2)1

3)-1 4)2

§+ (}2] =0 srerfled Qg 6TH5 LsTTEOLS
GG

1) gn L 60l6ar &FLoeafls Lisvary

2) &a L eSleir sTMosmmL ListarL

3) Qum&sedletr &weflits LstarL

4) Qu(m&sedlstr 6T ifnemmUiLeTaTL|

N

% , g L ENL 616007 S5 (5T S lemLGLL 2_siTeT

(1 eSl&GLpm) eTear
=
40

31
4) 2=
)40

2" =16 eterfled X - @letT LY

1)4 2) 8
3) 32 4)5

SpSaTamild erevTaaflsd (L) SevT sTetor
T8 ?
1) 125
3)75

2) 36
4) 100

it gjenr eI’ LSt urliusTey 84 Qaih’
sreufley gjsueul L Slear LTLILETR] ———

1) 144 Qas® 2) 42 Qef’

31168 Qaf’ 4) 288 Qa5

R el LSS afl L b 84 Ge.f. g|g6m
&6 au L SE6T &OmeTe] ———— gL Sl
1) 150Q&L5 2) 120 Q&

3) 21 GlgLl 4) 42 Q&

9—3

http://doozystudy.blogspot.in/

91.

92.

93.

94.

95.

96.

97.

The additive identity of rational

numbers is
1o )1
3)-1 4)2

The property exists in the expression
2 ( —2) :

—+l—1=0,1s

5 %5

1) Additive identity

2) Additive inverse

3) Multiplicative identity

4) Multiplicative inverse

A rational number between

3 and = is
4 5
32 38
1) - 2) —
) 40 ) 40
36 31
3) — 4) —
) 40 ) 40
If 2* =16, then X is
1)4 2)8
3)32 4)5
A perfect cube is
1) 125 2) 36
3)75 4) 100

If the area of a semicircle is 84 cmz,
then the area of the circle is

1) 144 cm® 2) 42cm’

3) 168 cm’ 4) 288 cm’

The diameter of a circle is 84 cm,
the perimeter of a quadrant of
the circle is
1) 150 cm
3)21 cm

2) 120 cm
4)42 cm
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1)b x h&.9
,2/1) % x b x h&.g
3 xbeyg
4) ;— x h x (a+b) .9
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1)Ixb
2)b x h

3)%xhx(a+b)

Aq%xdx(h1+h2)

100. §G AL Her TpLEGSIID Sjmisd 100.
Gamemurid
1) 90° 2 180°
3)270° 4) 360°
101. Spssmamid UL SS6T LTLILETE| —=—— 101.
Q&b
£
14cm
1)273 2) 278
3) 812 4616
102. SpésTaRTUSTOIDYIT 6TEn6 102.
(P&CETEITSHT LESBIGETTS Sjemioujin ?
1) 23 Q&.f, 17 Qa.f, 8 G&Lf

2) 12 Qg.f, 10 Qa.f, 25 (aF:2T)
3)'6 Q&.f, 7 Gg.b, 16 (AF:IT)
4) 8 Qe.f, 7 Gs.f, 16 Q&8

103. Spsongmid  Gamemr oereysefles  erg 103.
QsriCanemT YECaETTTEMS LSS ?

1) 24°, 66° 2) 36, 64°
3) 62°, 48° 4) 68", 32°
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Area of a right angled triangle is

1) b x h sq.units

2) i—x b x h sq.units

3) I x b sq.units

4) % x h x (a + b) sq.units

Area of a quadrilateral is --—------
sq.units

)/ xb

2)b x h

3) %x h x (a+Db)

4 2 x dx (b +hy)

The angle is a quadrant of a circle is

1) 90° 2) 180°
3)270° 4) 360°
The area of the following figure is
-------- cm’

14cm
1) 273 2)278
3) 812 4) 616

Which of the following will form the
sides of a triangle?

1)23cm, 17 cm, 8 cm

2) 12 cm, 10 ¢cm, 25 cm

3)6cm, 7 cm, 16 cm

4)8 cm, 7 cm, 16 cm

Which of the following will form a
right angled triangle, whose two
angles are

1) 24°, 66° 2) 36°, 64°

3) 62°, 48° 4) 68°, 32°
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A ABC uigib ADEF -0, ZB = ZE,
AB = DE, BC = EF eatflsd Geven ———
IjglivenL & QamrerensuflsTuly STe FLo

1) u—u—-u
5] u-G&m—u

)

2) Car—GCar—Gam
4) Gar—-u-Gasr

x*-5x%y* + 30x’y”* — 576xy eTetrm
usoemiC S Cameneuullerr Lig ————

X) =576 2) 4
3)5 4)7
0,6 = msmrinnss
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In AABC and ADEF, ZB = ZE,
AB =DE, BC = EF. The two triangles

are congruent under ------ axiom
1) SSS 2) AAA
3) SAS 4) ASA

The degree of the polynomial
)(2—5x2y3 + 30x3y4 — 576xy is ------

1) =576 2) 4
3)5 4)7
9.5" = oo

1) 9216 2) 93.6
3)9.216 4)92.16

If one factor of 6x” — x — 15 is (2x+3),
then the other factor is

1) 3x-5) 2) 3x +5)

3) (5x-3) 4)(2x-3)

If one third of half of one fifth of a
number is 15, then the number is

1) 400
3) 450

2) 480
4) 350

Area of a square whose diagonal is
6cm, is
1) 20
3) 30

2) 36
4)18

A (5, 3)9 B (_3’ 3)’ & (_3a _4)5

D (5, —4) plot and join ABCD. What
figure do you get?
1) Square

3) Triangle

2) Quadrilateral
4) Rectangle
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